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1. Let x; be the amount of food consumed by a household and x, the amount of
clothing. The household faces a price for food p1=4 and clothing p,=3 with

income I=96. Derive the optimal (utility-maximizing) bundles (x;", X2) using the
following utility functions:

a.  UXLx)=5x+3x (6%)

b U, x3) = x;2 + x,2 (6%)

¢. UXnLx)=5nx+3 Inx; (6%)

2. Consider a firm facing the following demand functions in two separate markets:
Qi =-2p1 +6, @2 =-2p;+4. Let the short-run total cost function for this firm
be STC = 0.5 + (q; + qu) and let total output produced by the firm Q = q; + q2.
What are the profit-maximizing output and price in the more elastic market?
(8%)

3. Consider a firm facing the market demand function Q = 20 - 2P and operating
two plants with output q; for plant 1 and qz for plant 2. Let marginal costs for the
respective plants be SMC; = 1 + 2qi, SMC, =2+ qz- The firm will maximize
profit by equating the marginal cost in each plant to the overall marginal revenue.
What are the profit-maximizing price and outputs in each plant? (8%)

4. Suppose that the total market demand for mineral water is given by Qp =
80,000 — 2,000P, where Qp is the quantity and P is the price. Suppose also that
there are 1,000 identical small producers, each with marginal costs given by MCg
= q + 4, where q is the output of the typical firm.

a.  Assuming that each small producer acts as a price taker, calculate the
market equilibrium price and quantity. (6%)

b.  Suppose now there is a dominant firm which sets the price and the small
producers act as price followers. The demand curve facing the price leader
can be derived by subtracting what the small producers will supply from the
total market demand curve. The marginal cost of the leader is constant at
MCL = 18. Derive the price leader’s marginal revenue curve (MR). (6%)

c.  Following part b, how should the price leader set the price and how much
should it produce to maximize profits? (4%)
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3. RMEEE L HNERHE (current consumption) H{A 55287 5771
LA HEE SR (Keynesian consumption theory) EZEHFTSEER (permanent
income hypothesis) fEfE - (847)

4. BEREREIE S y=4K°L™ > 0<a<l > ,EQEP y (RREEEN 4 REdl
KE K K L FRIEREAGRASEHTA - HFUF TGRSR ERE
(neoclasssical model of investment) ﬁ?ﬁﬁ‘FﬁU%{#ﬁﬁééK%E%ﬂ%E?{% (rental
price of capital) ~ BN (cost of capital) - EAFERYE :

a. BINAERE TR  AOE#t  BERALEI (677)

b. RHWEEAE  EREERBEAERE 657)
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NS E R (steady-state growth rate of output per person) T [& < (10

73)

2
~'i 3. ;ﬁ— .;,k‘ 20
S URH WA A
LA




